



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 4th Semester, Section -, Evening, Session Autumn 2025

Registration #	Name	CS111					CSC 210-7					CSC 401					CSC204					CSC-206					CSC-303				
		Programming Fundamentals (C)					Linear Algebra					Data Structures & Algorithms					Theory of Automata & Formal Languages					Database Systems					Object Oriented Programming				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2022-M-B-0103	Muhammad Saqib	-	-	-	-	6	F	-	3	-	-	-	-	-	-	28	F	-	3	-	30	F	-	3	-	-	-	-	-		
B.S CS Aut-2023-E-A-0212	Abdul Samad	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	37	F	-	3	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2023-E-A-0221	Hammad Razoom	-	-	-	-	-	-	-	-	-	74	B	3.0	4	12.0	20	F	-	3	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-B-0265	Asad Islam	-	-	-	-	-	-	-	-	-	75	B+	3.5	4	14.0	19	F	-	3	-	-	-	-	-	-	34	F	-	4	-	
B.S CS Aut-2023-E-B-0274	Hamayl Abbas Naqvi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	40	F	-	4	-		
B.S CS Aut-2023-E-B-0292	Muhammad Hammad Awan	74	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-	21	F	-	3	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-C-0305	Hasaam Ishfaq	-	-	-	-	35	F	-	3	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-C-0313	Muhammad Mujtaba	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-C-0328	Zulfqar Ali	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-C-0156	Haseeb Ur Rehman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-C-0196	Warda Mehak	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-Eve-0225	Muhammad Zain Ul Abideen	-	-	-	-	35	F	-	3	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-Eve-0234	Syed Abdullah Hasnain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-B-0078	Khateeb Ur Rehman	-	-	-	-	55	C	2.0	3	6.0	84	A	4.0	4	16.0	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-A-0021	Muhammad Haris Huzaifa	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-A-0030	Mustansar Masaud	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-A-0037	Sayyam Shahid	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-A-0038	Shafqat Ullah	66	C+	2.5	4	10.0	60	C	2.0	3	6.0	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-B-0073	Adnan Tahir	-	-	-	-	30	F	-	3	-	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-B-0100	Rabia Batool	-	-	-	-	53	D	1.5	3	4.5	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-B-0109	Tuba Bibi	-	-	-	-	22	F	-	3	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-D-0212	Mahmood Ul Hassan	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	38	F	-	3	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-D-0221	Muhammad Tayyab Arshad	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0301	Abdul Haroon	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0302	Adnan	-	-	-	-	27	F	-	3	-	-	-	-	-	-	39	F	-	3	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0303	Ahsan Farooq	-	-	-	-	22	F	-	3	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0304	Ali Hassan	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0309	Atif Ur Rehman (Withheld due to F)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-24-Eve-0311	Babar Hussain	72	B	3.0	4	12.0	70	B	3.0	3	9.0	-	-	-	-	62	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 4th Semester, Section -, Evening, Session Autumn 2025

		CSC304					CSC-305					CSC-403					CSC404					CSC-405					CSC-503				
		Digital Logic Design					Discrete Structures					Database Management Systems					Visual Programming					Advanced Database Systems					Artificial Intelligence				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2022-M-B-0103	Muhammad Saqib	-	-	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	57	C	2.0	3	6.0	-	-	-	-		
B.S CS Aut-2023-E-A-0212	Abdul Samad	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	15	F	-	3	-	77	B+	3.5	3	10.5	
B.S CS Aut-2023-E-A-0221	Hammad Razoom	31	F	-	3	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2023-E-B-0265	Asad Islam	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2023-E-B-0274	Hamayl Abbas Naqvi	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2023-E-B-0292	Muhammad Hammad Awan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	74	B	3.0	3	9.0	-	-	-	-	-	74	B	3.0	3	9.0	
B.S CS Aut-2023-E-C-0305	Hasaam Ishfaq	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	17	F	-	3	-	46	F	-	3	-	
B.S CS Aut-2023-E-C-0313	Muhammad Mujtaba	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	26	F	-	3	-	80	A	4.0	3	12.0	
B.S CS Aut-2023-E-C-0328	Zulfiqar Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	21	F	-	3	-	61	C	2.0	3	6.0	
B.S CS Aut-2023-M-C-0156	Haseeb Ur Rehman	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2023-M-C-0196	Warda Mehak	-	-	-	-	-	27	F	-	3	-	-	-	-	-	-	-	-	-	-	5	F	-	3	-	83	A	4.0	3	12.0	
B.S CS SP-2023-Eve-0225	Muhammad Zain Ul Abideen	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	28	F	-	3	-	62	C	2.0	3	6.0	
B.S CS SP-2023-Eve-0234	Syed Abdullah Hasnain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2023-M-B-0078	Khateeb Ur Rehman	-	-	-	-	-	-	-	-	-	-	67	C+	2.5	4	10.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-A-0021	Muhammad Haris Huzaifa	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	88	A	4.0	3	12.0	
B.S CS SP-2024-M-A-0030	Mustansar Masaud	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0	92	A	4.0	3	12.0	
B.S CS SP-2024-M-A-0037	Sayyam Shahid	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	34	F	-	3	-	79	B+	3.5	3	10.5	
B.S CS SP-2024-M-A-0038	Shafqat Ullah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	36	F	-	3	-	88	A	4.0	3	12.0	
B.S CS SP-2024-M-B-0073	Adnan Tahir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	79	B+	3.5	3	10.5	
B.S CS SP-2024-M-B-0100	Rabia Batool	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	85	A	4.0	3	12.0	
B.S CS SP-2024-M-B-0109	Tuba Bibi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	33	F	-	3	-	81	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0212	Mahmood Ul Hassan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	25	F	-	3	-	84	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0221	Muhammad Tayyab Arshad	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	90	A	4.0	3	12.0	
B.S CS SP-24-Eve-0301	Abdul Haroon	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	26	F	-	3	-	82	A	4.0	3	12.0	
B.S CS SP-24-Eve-0302	Adnan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	27	F	-	3	-	63	C	2.0	3	6.0	
B.S CS SP-24-Eve-0303	Ahsan Farooq	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20	F	-	3	-	82	A	4.0	3	12.0	
B.S CS SP-24-Eve-0304	Ali Hassan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	76	B+	3.5	3	10.5	
B.S CS SP-24-Eve-0309	Atif Ur Rehman (Withheld due to F)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-24-Eve-0311	Babar Hussain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	26	F	-	3	-	78	B+	3.5	3	10.5	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 4th Semester, Section -, Evening, Session Autumn 2025

		CSC-504					ELC-301					GE161					GE269					HUM 304					HUM- 401				
		Web Technologies					Applied Physics					Application of Information & Communication Technologies					Applied Physics					Expository Writing					Ideology & Constitution of Pakistan				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2022-M-B-0103	Muhammad Saqib	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-A-0212	Abdul Samad	52	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-A-0221	Hammad Razoom	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-B-0265	Asad Islam	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-B-0274	Hamayl Abbas Naqvi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-B-0292	Muhammad Hammad Awan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	2	4.0		
B.S CS Aut-2023-E-C-0305	Hasaam Ishfaq	67	C+	2.5	3	7.5	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-C-0313	Muhammad Mujtaba	90	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-C-0328	Zulfiqar Ali	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-C-0156	Haseeb Ur Rehman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-C-0196	Warda Mehak	57	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-Eve-0225	Muhammad Zain Ul Abideen	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-Eve-0234	Syed Abdullah Hasnain	-	-	-	-	-	18	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-B-0078	Khateeb Ur Rehman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-A-0021	Muhammad Haris Huzaiifa	89	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-A-0030	Mustansar Masaud	93	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-A-0037	Sayyam Shahid	97	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-A-0038	Shafqat Ullah	91	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-B-0073	Adnan Tahir	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-B-0100	Rabia Batool	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-B-0109	Tuba Bibi	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-D-0212	Mahmood Ul Hassan	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-D-0221	Muhammad Tayyab Arshad	97	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0301	Abdul Haroon	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0302	Adnan	42	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0303	Ahsan Farooq	63	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0304	Ali Hassan	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0309	Atif Ur Rehman (Withheld due to F)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0311	Babar Hussain	67	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 4th Semester, Section -, Evening, Session Autumn 2025

		MT243					MTH401					SSC 303				
		Probability & Statistics					Differential Equations					Operating Systems				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2022-M-B-0103	Muhammad Saqib	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-A-0212	Abdul Samad	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0		
B.S CS Aut-2023-E-A-0221	Hammad Razoom	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2023-E-B-0265	Asad Islam	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2023-E-B-0274	Hamayl Abbas Naqvi	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2023-E-B-0292	Muhammad Hammad Awan	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2023-E-C-0305	Hasaam Ishfaq	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0		
B.S CS Aut-2023-E-C-0313	Muhammad Mujtaba	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5		
B.S CS Aut-2023-E-C-0328	Zulfiqar Ali	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5		
B.S CS Aut-2023-M-C-0156	Haseeb Ur Rehman	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2023-M-C-0196	Warda Mehak	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0		
B.S CS SP-2023-Eve-0225	Muhammad Zain Ul Abideen	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0		
B.S CS SP-2023-Eve-0234	Syed Abdullah Hasnain	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-		
B.S CS SP-2023-M-B-0078	Khateeb Ur Rehman	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2024-M-A-0021	Muhammad Haris Huzaiifa	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		
B.S CS SP-2024-M-A-0030	Mustansar Masaud	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		
B.S CS SP-2024-M-A-0037	Sayyam Shahid	27	F	-	3	-	-	-	-	67	C+	2.5	3	7.5		
B.S CS SP-2024-M-A-0038	Shafqat Ullah	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		
B.S CS SP-2024-M-B-0073	Adnan Tahir	50	D	1.5	3	4.5	-	-	-	65	C+	2.5	3	7.5		
B.S CS SP-2024-M-B-0100	Rabia Batool	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0		
B.S CS SP-2024-M-B-0109	Tuba Bibi	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		
B.S CS SP-2024-M-D-0212	Mahmood Ul Hassan	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		
B.S CS SP-2024-M-D-0221	Muhammad Tayyab Arshad	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0		
B.S CS SP-24-Eve-0301	Abdul Haroon	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0		
B.S CS SP-24-Eve-0302	Adnan	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0		
B.S CS SP-24-Eve-0303	Ahsan Farooq	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0		
B.S CS SP-24-Eve-0304	Ali Hassan	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		
B.S CS SP-24-Eve-0309	Atif Ur Rehman (Withheld due to F)	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-24-Eve-0311	Babar Hussain	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 4th Semester, Section -, Evening, Session Autumn 2025

Registration #	Name	CS111					CSC 210-7					CSC 401					CSC204					CSC-206					CSC-303				
		Programming Fundamentals (C)					Linear Algebra					Data Structures & Algorithms					Theory of Automata & Formal Languages					Database Systems					Object Oriented Programming				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-24-Eve-0312	Faizan Shah (Withheld due to Fee)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0317	Laraib Qureshi	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0318	Mubashir Safeer	-	-	-	-	18	F	-	3	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0319	Muhammad Ali Hasnain	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0320	Muhammad Aman Ullah Siddique	-	-	-	-	30	F	-	3	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0321	Muhammad Ammar UI Haq	-	-	-	-	41	F	-	3	-	-	-	-	-	-	37	F	-	3	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0322	Muhammad Farhan Farooq	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0323	Muhammad Hasnat	-	-	-	-	33	F	-	3	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0324	Muhammad Hisan	-	-	-	-	41	F	-	3	-	-	-	-	-	-	38	F	-	3	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0326	Muhammad Sana Ullah	-	-	-	-	87	A	4.0	3	12.0	-	-	-	-	-	92	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0327	Muhammad Uzair Aslam (Withheld)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0330	Noor-UI-Hassan	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0331	Remsha Tariq	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0334	Sajjad Irfan	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0335	Sallahudin	-	-	-	-	24	F	-	3	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0336	Sami Ullah	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0337	Shahzad Nazir	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0338	Shakir Majeed	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0339	Shoaib Ali	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0341	Toheed Qamar	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	88	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0342	Umaima Rashid (Withheld due to F)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0343	Umer Naseer	-	-	-	-	39	F	-	3	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	
B.S SE SP-2024-M-A-0008	Aqsa Sajjad	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 4th Semester, Section -, Evening, Session Autumn 2025

		CSC-504					ELC-301					GE161					GE269					HUM 304					HUM- 401				
		Web Technologies					Applied Physics					Application of Information & Communication Technologies					Applied Physics					Expository Writing					Ideology & Constitution of Pakistan				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-24-Eve-0312	Faizan Shah (Withheld due to Fee)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0317	Laraib Qureshi	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0318	Mubashir Safeer	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0319	Muhammad Ali Hasnain	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0320	Muhammad Aman Ullah Siddique	63	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0321	Muhammad Ammar Ul Haq	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0322	Muhammad Farhan Farooq	91	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0323	Muhammad Hasnat	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0324	Muhammad Hisan	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0326	Muhammad Sana Ullah	89	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0327	Muhammad Uzair Aslam (Withheld)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0330	Noor-Ul-Hassan	93	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0331	Remsha Tariq	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0334	Sajjad Irfan	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0335	Sallahudin	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0336	Sami Ullah	88	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0337	Shahzad Nazir	72	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0338	Shakir Majeed	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0339	Shoaib Ali	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0341	Toheed Qamar	97	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0342	Umaima Rashid (Withheld due to F)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-24-Eve-0343	Umer Naseer	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S SE SP-2024-M-A-0008	Aqsa Sajjad	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 4th Semester, Section -, Evening, Session Autumn 2025

		MT243					MTH401					SSC 303				
		Probability & Statistics					Differential Equations					Operating Systems				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-24-Eve-0312	Faizan Shah (Withheld due to Fee)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0317	Laraib Qureshi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0318	Mubashir Safeer	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0319	Muhammad Ali Hasnain	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0320	Muhammad Aman Ullah Siddique	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0321	Muhammad Ammar Ul Haq	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0322	Muhammad Farhan Farooq	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0323	Muhammad Hasnat	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0324	Muhammad Hisan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0326	Muhammad Sana Ullah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0327	Muhammad Uzair Aslam (Withheld	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0330	Noor-UI-Hassan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0331	Remsha Tariq	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0334	Sajjad Irfan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0335	Sallahudin	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0336	Sami Ullah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0337	Shahzad Nazir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0338	Shakir Majeed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0339	Shoaib Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0341	Toheed Qamar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0342	Umaima Rashid (Withheld due to F	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-24-Eve-0343	Umer Naseer	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S SE SP-2024-M-A-0008	Aqsa Sajjad	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026